

Owner Code/Schedule Number(s): 492-7

RESIDUE LAST CONTAINED

Company:	NCSG Crane & Heavy Haul Services o/a Barnhart
Consignor	Name: Same
Address:	8765 Acheson Rd, Acheson, AB T7X 6A8
Phone Nu	mber: <u>780-960-6300</u>
Transport	er:
	n of tank (including serial number):ve Ground Tank, built by Transtank. Transtank s/n TNTK401401, UL s/n C748064
Tank empt	ried: YES ✓ NO □
Tank clean	ed: YES 🗸 NO 🗌
Tank purge	e/steamed: YES 📝 NO 🗌
3 rd Party C	ertificate provided: YES 🗹 NO 🗌
Last Containe	d: WATER SAND DIESEL GASOLINE:
Other:	
Consignor Sig	nature:
Consignor Pri	nt Name: Jeremy Power
	INTERNAL USE ONLY

Invoice Invoice Date

152512 06/30/24



Suite 3210, 715 - 5th Ave SW Calgary, Alberta T2P 2X6 Canada

Bill to: Clean Harbors 15715 121A Ave NW Edmonton, AB T5V 1B1 CA

GST NUMBER: 76528 5275 RT0001 Acden Bravo Target Limited Partnership

Work Description: Work Completed June 23-25

Ticket 104953-001

Yard Description	Quantity	Unit Price	Price UM	Price Total
Description				
Confined/High Angle Rescue Reg	36.00	67.50	HR	2,430.00
Safety Watch Reg	36.00	46.50	HR	1,674.00
Truck - Light Duty	500.00	1.50	KM	750.00
Truck - Light Duty	3.00	131.50	DAY	394.50
Trailer - Air Trailer	1.00	178.50	DAY	178.50
Confined Space Entry Kit	1.00	28.50	EA	28.50
Portable 4 Head w/Motorized Pump	1.00	28.50	EA	28.50
Rescue Tripod w/ SRL Winch	1.00	115.00	EA	115.00
	Customer PO: W24022	26758		
			Subtotal Tax	5,599.00 280.01
			Total	5,879.0



Ticket Number: 104953-001

Work Date: 06/23/2024 - 06/25/2024

Acden Clean Harbors - 2024 Safety Services - Northern Crane Yard

Customer Acden - Clean Harbors 1450, 555 - 4th Ave SW Calgary, AB T2P 3E7

Service Site: **Northern Crane Yard**

Scope Details

Safety Services @ Northern Crane Yard

J	ċ	а	b	ı	D	ı	

Labor Employee	Work Type Description	Units	UOM	Rate	Total
Ron Harrison	Safety Watch Reg	18.00	HRS	\$46.50	\$837.00
Christopher Edward J Hayduk	Confined/High Angle Rescue Reg	18.00	HRS	\$67.50	\$1215.00
Paul G Lindsay	Safety Watch Reg	18.00	HRS	\$46.50	\$837.00
Emeka Augustus Okusor Mr	Confined/High Angle Rescue Reg	18.00	HRS	\$67.50	\$1215.00

Total:

\$4104.00

Equipment				
Equipment	Units	UOM	Rate	Total
24RT14 Vehicle	3.00	DAY	\$131.50	\$394.50
24RT14 Vehicle	500.00	KM	\$1.50	\$750.00
Air Trailer-66HP	1.00	DAY	\$178.50	\$178.50

Total:

\$1323.00

Misc				
Standard Items	Units	UOM	Rate	Total
Confined Space Entry Kit	1.00	EA	\$28.50	\$28.50
Portable 4 Head w/Motorized Pump	1.00	EA	\$28.50	\$28.50
Rescue Tripod w/ SRL Winch	1.00	EA	\$115.00	\$115.00

Total:

\$172.00



Ticket Number: 104953-001

Work Date: 06/23/2024 - 06/25/2024

Acden Clean Harbors - 2024 Safety Services - Northern Crane Yard

Subtotal:

\$5599.00

Total	\$5599.00

Cost Object: Work Order#: Approver Code: Cost Centre: Major: Minor:



Ticket Number: 104953-001

Work Date: 06/23/2024 - 06/25/2024

Acden Clean Harbors - 2024 Safety Services - Northern Crane Yard

ignatures y signing below, you are acknowle	edging that this work was c	done at your service site	
Nathan	7/2/2024	La	6/28/2024
Customer Signature	Date 2	Area / Project Manager Signature	Date
Nathan Gallant		Todd clarke	
Customer Name		Area / Project Manager Name	
Project Manager		operations manager	
Customer Title		Area / Project Manager Title	
ustomer Stamp			
ill To:			
IWI:			
Vell Name:			
kFE: Service Date:			
pprover Name:			
mail Invoice To:			
PO#:			
SL#:			